MCR3U9: UNIT 1 MINOR TEST — THE GOOD, THE BAD AND THE UGLY

Insanity: doing the same thing over and over again and expecting different results.

(This quotation is often attributed to Einstein but there is no solid evidence to support this claim.)

Good Responses Bad and UGLY Responses
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(a) Determine the equation of T;' (x). (4 APP) (a) Determine the equation of 7, (x). (4 APP)
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4. A pig-headed grade-9 student insists that (x+2)" =x’ +8. You,
being a far more mature, experienced and wiser grade-11 AP
student obviously know better. Use your knowledge of

¢ transformations to prove that the grade-9 student is wrong!
-~ Note that a grid is provided so that you can illustrate your
answer with graphs. (Hint: Use f(x) = x” as the base
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